FEED 1ft to 6ft [ FEED 1ft to 6ft S
STD Installation Instruction 1/2 = NMT-20-1013-00 STD Installation Instruction 2 /2 m—

§ % HI:HHHmewiXN
X
X

NMT-20-1013-00

Dismounted feed

[ I M4x 201 x2
[ —— M3 x 16 weo) —%2
[ —— Max12mm —*4
ﬂ]il} —— M4 x 16 wioo) —22

POLARISATION ADJUSTMENT

Horizontal

X
[ —— M3 x 16 weo) —%2
D:ﬂ — M4 x 12 (w71) }7X4

D:ﬂ ——{ M4x 16 wiop) —*2

30024265X J




